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R1#show running-config

Building configuration...

|

!

interface Ethernet0/0

ip address 10.100.100.1 255.255.255.0
ip policy route-map blah

|
interface Seriall/0

ip address 10.10.10.1 255.255.255.0
|
interface Serial2/0

ip address 10.20.20.1 255.255.255.0
I

router ospf 1
!I--- OSPF is not configured on Seriall/0.

Tog-adjacency-changes
network 10.20.20.0 O.

network 10.100.100.0
I

0.0.255 area 0

0.0.0.255 area 0

ip classless

no ip http server

!

access-1ist 100 permit ip host 10.100.100.3 host 10.200.200.4
!
route-map blah permit 10

match ip address 100

set ip default next-hop 10.10.10.2
!
end

R2

R2#show running-config
Building configuration...
!
!

interface Ethernet0/0

ip address 10.200.200.2 255.255.255.0
ip policy route-map blah

!

interface Seriall/0

ip address 10.10.10.2 255.255.255.0
fair-queue

!

interface Serial2/0

ip address 10.20.20.2 255.255.255.0

|

router ospf 1
!I--- OSPF is not configured on Seriall/0.
log-adjacency-changes

network 10.20.20.0 O.
network 10.200.200.0

55 area 0

0.0.2
0.0.0.255 area 0




ip classless

no ip http server
!
access-1ist 100 permit ip host 10.200.200.4 host 10.100.100.3
|
route-map blah permit 10

match ip address 100

set ip default next-hop 10.10.10.1
|
end

=61 1 ORRELE

set ip default next-hopIN > ROFEAT, BAL—RNFIN—TFT 12 ITT7—TINIHFETRIEER
BEOEENMMERAENET, NTYRERID—=I)L—NLABEVTLEZV,

<tfroot>

R1l#show ip route 10.200.200.4
Routing entry for 10.200.200.0/24
Known via "ospf 1", distance 110, metric 74, type intra area
Last update from 10.20.20.2 on Serial2/0, 00:11:48 ago
Routing Descriptor Blocks:
* 10.20.20.2, from 10.30.30.3, 00:11:48 ago, via Serial2/0
Route metric is 74, traffic share count is 1

R1l#debug ip policy
Policy routing debugging is on
*Dec 4 12:50:57.363: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, T1en 100, policy match
*Dec 4 12:50:57.363: IP: route map blah, item 10, permit
*Dec 4 12:50:57.363: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Serial2/0), Ten 100, policy rejected -- normal forwarding
*Dec 4 12:50:57.431: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, T1en 100, policy match
*Dec 4 12:50:57.431: IP: route map blah, item 10, permit
*Dec 4 12:50:57.431: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Serial2/0), len 100, policy rejected -- normal forwarding
*Dec 4 12:50:57.491: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, T1en 100, policy match



*Dec 4 12:50:57.491: IP: route map blah, item 10, permit
*Dec 4 12:50:57.491: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Serial2/0), Ten 100, policy rejected -- normal forwarding

R2#

show i p route 10.100.100.3

Routing entry for 10.100.100.0/24

Known via "ospf 1", distance 110, metric 74, type intra area

Last update from 10.20.20.1 on Serial2/0, 00:11:42 ago

Routing Descriptor Blocks:

* 10.20.20.1, from 10.100.100.1, 00:11:42 ago, via Serial2/0
Route metric 1is 74, traffic share count is 1

R2#

debug ip policy

Policy routing debugging is on
*Dec 4 12:50:57.779: IP: s=10.200.200.4 (Ethernet0/0),
d=10.100.100.3, Ten 100, policy match
*Dec 4 12:50:57.779: IP: route map blah, item 10, permit
*Dec 4 12:50:57.779: IP: s=10.200.200.4 (Ethernet0/0),
d=10.100.100.3 (Serial2/0), Ten 100, policy rejected -- normal forwarding
*Dec 4 12:50:57.839: IP: s=10.200.200.4 (Ethernet0/0),
d=10.100.100.3, Ten 100, policy match
*Dec 4 12:50:57.839: IP: route map blah, item 10, permit
*Dec 4 12:50:57.839: IP: s=10.200.200.4 (Ethernet0/0),
d=10.100.100.3 (Serial2/0), Ten 100, policy rejected -- normal forwarding
*Dec 4 12:50:57.911: IP: s=10.200.200.4 (Ethernet0/0),
d=10.100.100.3, Ten 100, policy match
*Dec 4 12:50:57.911: IP: route map blah, item 10, permit
*Dec 4 12:50:57.911: IP: s=10.200.200.4 (Ethernet0/0),
d=10.100.100.3 (Serial2/0), Ten 100, policy rejected -- normal forwarding

Serial 20 A2 9> L. BET RLANN—F 12059 F=TI)IHhs¥EzdE, NMTYRNORID
— =T AT IThhET,

<#root>
R1#
show i p route 10.200.200.0

% Network not in table

R1#

*Dec 5 13:26:27.567: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, Ten 100, policy match

*Dec 5 13:26:27.567: IP: route map blah, item 10, permit

*Dec 5 13:26:27.567: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Seriall/0),len 100, policy routed

*Dec 5 13:26:27.567: IP: Ethernet0/0 to Seriall/0 10.10.10.2

*Dec 5 13:26:27.655: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, Ten 100, policy match

*Dec 5 13:26:27.655: IP: route map blah, item 10, permit

*Dec 5 13:26:27.655: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Seriall/0),len 100, policy routed

*Dec 5 13:26:27.655: IP: Ethernet0/0 to Seriall/0 10.10.10.2



*Dec 5 13:26:27.727: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, T1en 100, policy match

*Dec 5 13:26:27.727: IP: route map blah, item 10, permit

*Dec 5 13:26:27.727: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Seriall/0),len 100, policy routed

*Dec 5 13:26:27.727: IP: Ethernet0/0 to Seriall/0 10.10.10.2

T—AAET A2 A4 FIVvIIN—FT142J7ORIINZFEMAL zset ip next-
hopdAN > RIZKDRID—=)I—FT 12T

cOtv>arTRk, ROFZREFZEALTVWET,

R1

R1l#show running-config
Building configuration...
!
!

interface Ethernet0/0

ip address 10.100.100.1 255.255.255.0
ip policy route-map blah

!

interface Seriall/0

ip address 10.10.10.1 255.255.255.0

!

interface Serial2/0

ip address 10.20.20.1 255.255.255.0

|

router ospf 1
!--- OSPF is not configured on Seriall/0.

Tog-adjacency-changes
network 10.20.20.0 O.
network 10.100.100.0
!

ip classless

no ip http server

!

access-1list 100 permit ip host 10.100.100.3 host 10.200.200.4
!
route-map blah permit 10
match ip address 100

set ip next-hop 10.10.10.2

55 area 0

0.0.2
0.0.0.255 area 0

!
end

R2

R2#show running-config

Building configuration...
!
|
interface Ethernet0/0




ip address 10.200.200.2 255.255.255.0
ip policy route-map blah

!
interface Seriall/0

ip address 10.10.10.2 255.255.255.0
fair-queue

!
interface Serial2/0

ip address 10.20.20.2 255.255.255.0
I

router ospf 1
!I--- OSPF is not configured on Seriall/0.

Tog-adjacency-changes
network 10.20.20.0 O.

network 10.200.200.0
I

0.0.255 area 0
0.0.0.255 area 0
ip classless

no ip http server

!
|
!
access-1ist 100 permit ip host 10.200.200.4 host 10.100.100.3
|
route-map blah permit 10
match ip address 100

set ip next-hop 10.10.10.1
|
end

=46l 2 OE
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R1l#show ip route 10.10.10.2
Routing entry for 10.10.10.0/24
Known via"connected”, distance 0, metric O (connected, viainterface)
Routing Descriptor Blocks:
* directly connected, via Serial1/0
Route metricis 0, traffic share count is 1

R1l#show ip route 10.200.200.4

Routing entry for 10.200.200.0/24

Known via "ospf 1", distance 110, metric 74,

type intra area Last update from 10.20.20.2 on Serial2/0, 00:11:48 ago
Routing Descriptor Blocks: * 10.20.20.2, from 10.30.30.3, 00:11:48 ago,
via Serial2/0 Route metric is 74, traffic share count is 1

R1#debug ip policy Policy routing debugging is on

*Dec 4 12:53:38.271: IP: s=10.100.100.3 (Ethernet0/0), d=10.200.200.4, len 100, policy match
*Dec 4 12:53:38.271: IP: route map blah, item 10, permit

*Dec 4 12:53:38.271: IP: s=10.100.100.3 (Ethernet0/0),

d=10.200.200.4 (Seriall/0), Ten 100, policy routed *Dec 4 12:53:38.271:
IP: Ethernet0/0 to Seriall/0 10.10.10.2 *Dec 4 12:53:38.355:



IP: s=10.100.100.3 (Ethernet0/0), d=10.200.200.4, Ten 100, policy match *Dec 4 12:53:38.355:
IP: route map blah, item 10, permit *Dec 4 12:53:38.355:

IP: s=10.100.100.3 (Ethernet0/0), d=10.200.200.4 (Seriall/0), Ten 100, policy routed

*Dec 4 12:53:38.355: IP: Ethernet0/0 to Seriall/0 10.10.10.2

*Dec 4 12:53:38.483: IP: s=10.100.100.3 (Ethernet0/0), d=10.200.200.4, len 100, policy match
*Dec 4 12:53:38.483: IP: route map blah, item 10, permit

R2#show ip route 10.100.100.3 Routing entry for 10.100.100.0/24 Known via "ospf 1",

distance 110, metric 74, type intra area Last update from 10.20.20.1 on Serial2/0,

00:11:42 ago Routing Descriptor Blocks: * 10.20.20.1, from 10.100.100.1, 00:11:42 ago,

via Serial2/0 Route metric is 74, traffic share count is 1 R2#debug ip policy

Policy routing debugging is on *Dec 4 12:53:38.691:

IP: s=10.200.200.4 (Ethernet0/0), d=10.100.100.3, Ten 100, policy match *Dec 4 12:53:38.691:
IP: route map blah, item 10, permit *Dec 4 12:53:38.691: IP: s=10.200.200.4 (Ethernet0/0),
d=10.100.100.3 (Seriall/0), Ten 100, policy routed

*Dec 4 12:53:38.691: IP: Ethernet0/0 to Seriall/O 10.10.10.1 *Dec 4 12:53:38.799:

IP: s=10.200.200.4 (Ethernet0/0), d=10.100.100.3, Ten 100, policy match

*Dec 4 12:53:38.799: IP: route map blah, item 10, permit

*Dec 4 12:53:38.799: IP: s=10.200.200.4 (Ethernet0/0), d=10.100.100.3 (Seriall/0), len 100, policy rout
*Dec 4 12:53:38.799: IP: Ethernet0/0 to Seriall/0O 10.10.10.1 *Dec 4 12:53:38.899:

IP: s=10.200.200.4 (Ethernet0/0),

d=10.100.100.3, len 100, policy match

*Dec 4 12:53:38.899: IP: route map blah, item 10, permit

REIPTRLANN—T 42T T=TIULSHERDE, NTYRBRUS— I)L—FT12T&h
£

*Dec 5 13:33:23.607: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, Ten 100, policy match

*Dec 5 13:33:23.607: IP: route map blah, item 10, permit

*Dec 5 13:33:23.607: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Seriall/0),len 100, policy routed

*Dec 5 13:33:23.607: IP: Ethernet0/0 to Seriall/0 10.10.10.2

*Dec 5 13:33:23.707: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, Ten 100, policy match

*Dec 5 13:33:23.707: IP: route map blah, item 10, permit

*Dec 5 13:33:23.707: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Seriall/0),len 100, policy routed

*Dec 5 13:33:23.707: IP: Ethernet0/0 to Seriall/0 10.10.10.2

*Dec 5 13:33:23.847: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, Ten 100, policy match

*Dec 5 13:33:23.847: IP: route map blah, item 10, permit

Serial 1104 R —T IAANREITDE, W—FAITF—TIHIESZXIARNKY S
10.10.1020° kb hn, N7y NEBEDOIN—FT 1> J9F7—TIZRNL—ALET,

*Dec 5 13:40:38.887: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, len 100, policy match
*Dec 5 13:40:38.887: IP: route map blah, item 10, permit
*Dec 5 13:40:38.887: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Serial2/0), Ten 100, policy rejected -- normal forwarding
*Dec 5 13:40:39.047: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, len 100, policy match
*Dec 5 13:40:39.047: IP: route map blah, item 10, permit



*Dec 5 13:40:39.047: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Serial2/0), Ten 100, policy rejected -- normal forwarding
*Dec 5 13:40:39.115: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, T1en 100, policy match
*Dec 5 13:40:39.115: IP: route map blah, item 10, permit
*Dec 5 13:40:39.115: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Serial2/0), Ten 100, policy rejected -- normal forwarding

T —AART 41 3:set ip default next-hop with a Default Routelc KB R > —)L—F
129

cOtv>arTRk, ROFZREFZEALTVWET,

R1

R1l#show running-config
Building configuration...
!
!

interface Ethernet0/0

ip address 10.100.100.1 255.255.255.0
ip policy route-map blah

!
interface Seriall/0

ip address 10.10.10.1 255.255.255.0

!
interface Serial2/0

ip address 10.20.20.1 255.255.255.0

|

ip route 0.0.0.0 0.0.0.0 10.20.20.2

!

ip classless

no ip http server

!

access-1list 100 permit ip host 10.100.100.3 host 10.200.200.4
!
route-map blah permit 10

match ip address 100

set ip default next-hop 10.10.10.2
!
end

R2

R2#show running-config
Building configuration...
|
|
interface Ethernet0/0

ip address 10.200.200.2 255.255.255.0
ip policy route-map blah

|
interface Seriall/0

ip address 10.10.10.2 255.255.255.0




fair-queue
|
interface Serial2/0

ip address 10.20.20.2 255.255.255.0
|
ip route 0.0.0.0 0.0.0.0 10.20.20.1
!
ip classless

no ip http server
!
|
!
access-1ist 100 permit ip host 10.200.200.4 host 10.100.100.3
|
route-map blah permit 10

match ip address 100

set ip default next-hop 10.10.10.1
!
end

=4 3 ORREE

set ip default next-hopIANX > REFEATBIHE. WENOE—DIIL—RFFT7FIILRNIL—KTH
NE (W=—TFT12IT7—=TILCFOBEANDBEDIL—MBVES )., NTYRNERUZ—)L
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R1l#show ip route 10.200.200.4
% Network not in table
R1#

R1#show ip route 0.0.0.0

Routing entry for 0.0.0.0/0, supernet

Known via "static", distance 1, metric 0, candidate default path
Routing Descriptor Blocks:

* 10.20.20.2

Route metric is 0, traffic share count is 1

R1#

*Dec 4 12:58:55.191: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, len 100, policy match

*Dec 4 12:58:55.191: IP: route map blah, item 10, permit

*Dec 4 12:58:55.191: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Seriall/0), Ten 100, policy routed

*Dec 4 12:58:55.191: IP: Ethernet0/0 to Seriall/0 10.10.10.2

*Dec 4 12:58:55.291: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, len 100, policy match

*Dec 4 12:58:55.291: IP: route map blah, item 10, permit

*Dec 4 12:58:55.291: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Seriall/0), Ten 100, policy routed

*Dec 4 12:58:55.291: IP: Ethernet0/0 to Seriall/0 10.10.10.2

*Dec 4 12:58:55.391: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, len 100, policy match

*Dec 4 12:58:55.391: IP: route map blah, item 10, permit

*Dec 4 12:58:55.391: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Seriall/0), Ten 100, policy routed

*Dec 4 12:58:55.391: IP: Ethernet0/0 to Seriall/0 10.10.10.2



R2#show ip route 10.100.100.3
% Network not in table

R2#show ip route 0.0.0.0

Routing entry for 0.0.0.0/0, supernet

Known via "static", distance 1, metric 0, candidate default path
Routing Descriptor Blocks:

* 10.20.20.1

Route metric is 0, traffic share count is 1

R2#

*Dec 4 12:58:20.819: %SYS-5-CONFIG_I: Configured from console by console

*Dec 4 12:58:55.611: IP: s=10.200.200.4 (Ethernet0/0),
d=10.100.100.3, Ten 100, policy match

*Dec 4 12:58:55.611: IP: route map blah, item 10, permit

*Dec 4 12:58:55.611: IP: s=10.200.200.4 (Ethernet0/0),
d=10.100.100.3 (Seriall/0), Ten 100, policy routed

*Dec 4 12:58:55.611: IP: Ethernet0/0 to Seriall/0O 10.10.10.1

*Dec 4 12:58:55.739: IP: s=10.200.200.4 (Ethernet0/0),
d=10.100.100.3, Ten 100, policy match

*Dec 4 12:58:55.739: IP: route map blah, item 10, permit

*Dec 4 12:58:55.739: IP: s=10.200.200.4 (Ethernet0/0),
d=10.100.100.3 (Seriall/0), Ten 100, policy routed

*Dec 4 12:58:55.739: IP: Ethernet0/0 to Seriall/0O 10.10.10.1

*Dec 4 12:58:55.799: IP: s=10.200.200.4 (Ethernet0/0),
d=10.100.100.3, Ten 100, policy match

*Dec 4 12:58:55.799: IP: route map blah, item 10, permit

*Dec 4 12:58:55.799: IP: s=10.200.200.4 (Ethernet0/0),
d=10.100.100.3 (Seriall/0), len 100, policy routed

*Dec 4 12:58:55.799: IP: Ethernet0/0 to Seriall/0O 10.10.10.1

Serial 20 AH T LTWVWB IS, F7FIN L—KFFELBEWVEE, NTY RERUZ— )
—TATENET,

<#root>
R1#
show ip route 0.0.0.0

% Network not in table

R1#

*Dec 5 13:02:31.283: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, Ten 100, policy match

*Dec 5 13:02:31.283: IP: route map blah, item 10, permit

*Dec 5 13:02:31.283: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Seriall/0),len 100, policy routed

*Dec 5 13:02:31.283: IP: Ethernet0/0 to Seriall/0 10.10.10.2

*Dec 5 13:02:31.375: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, Ten 100, policy match

*Dec 5 13:02:31.375: IP: route map blah, item 10, permit

*Dec 5 13:02:31.375: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Seriall/0),len 100, policy routed

*Dec 5 13:02:31.375: IP: Ethernet0/0 to Seriall/0 10.10.10.2

*Dec 5 13:02:31.435: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, Ten 100, policy match

*Dec 5 13:02:31.435: IP: route map blah, item 10, permit

*Dec 5 13:02:31.435: IP: s=10.100.100.3 (Ethernet0/0),



d=10.200.200.4 (Seriall/0),len 100, policy routed
*Dec 5 13:02:31.435: IP: Ethernet0/0 to Seriall/0 10.10.10.2

Serial2/0A" 7 ¥ 7R&ETSerial 1/0 5> LTWARR TR, RTVARKY THFKRbh, N7V
NEBEOEE (N—TFT142IT7—7)). 2FWRIZ—ERTENL—-ALET,

<ffroot>
R1#

debug ip policy

Policy routing debugging is on
R1#
*Dec 5 12:46:49.543: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, Ten 100, policy match
*Dec 5 12:46:49.543: IP: route map blah, item 10, permit
*Dec 5 12:46:49.543: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Serial2/0),len 100, policy rejected -- normal forwarding
*Dec 5 12:46:49.623: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, Ten 100, policy match
*Dec 5 12:46:49.623: IP: route map blah, item 10, permit
*Dec 5 12:46:49.623: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Serial2/0),len 100, policy rejected -- normal forwarding
*Dec 5 12:46:49.691: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, Ten 100, policy match
*Dec 5 12:46:49.691: IP: route map blah, item 10, permit
*Dec 5 12:46:49.691: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Serial2/0),len 100, policy rejected -- normal forwarding
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https://www.cisco.com/c/ja_jp/tech/ip/ip-routed-protocols/index.html?referring_site=bodynav
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